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D.EL.Ed. Entrance Test Questions & Answers - 2016

SECTION-I

1. Select the correct sentence.
(a) The doctors cut out his leg because
it was severely injured.
(b) The air conditioner becomes cut off
when the temperature gets to 22°C.
(c) The phone company cut in our
phone because we didn't pay the bill.
(d) I cut this advertisement out of the
newspaper.
2. Select the correct sentence.
(a) He's lucky to be alive; his shop was
done over by a street gang.
(b) It's time to do over with all of these
old tax records.
(c) My teacher wants me to do my essay
up because she doesn't like my topic.

(d) Do the hanging of your coat before
you go out.

3. Select the synonym for the underlined
word.
I watched my friend abasing himself
before a policeman.
(a) Belittling (b) Abusing
(c) Retracting (d) Detracting
4. Select the correct synonym for the
underlined word.
The angry man was forceful in his
remonstration.
(5) Refraction (b) Disagreement
(c) Demonstration (d) Perception
5. Select the correct synonym for the
underlined word.
There has been a precipitous slide in the
populari.t‘y of cricket in West Indies.
(a) Gradual (b) Normal
(c) Simple (d) Dramatic
Directions for Question Nos. 6 to 10: Read
the passage carefully and answer the
questions that follow :
Firefighters are often asked to speak to
school and community groups about the

importance of fire safety, particularly fire
prevention and detection. Because smoke
detectors reduce the risk of dying in a fire by
half, firefighters often provide audiences with
information on how to install these protective
devices in their homes. Specifically, they tell
them these things: A smoke detector should be
placed on each floor of a home. While sleeping,
people are in particular danger of an emergent
fire, and there must be a detector outside each
sleeping area. A good site for a detector would
be a hallway that runs between living spaces
and bedrooms.

Because of the dead-air space that might
be missed by turbulent hot air bouncing
around above a fire, smoke detectors should
be installed either on the ceiling at least four
inches from the nearest wall or high on a wall °
at least four, but no further than twelve inches
from the ceiling. Detectors should not be
mounted near windows, exterior doors, or
other places where drafts might direct the
smoke away from the unit. Nor should they
be placed in kitchens and garages, where

cooking and gas fumes are likely to cause false
alarms.

6. The passage implies that dead-air space
is most likely to be found

(a) on a ceiling,,between four and
twelve inches from a wall.

(b) near an open window:.
(c) in kitchens and garages.
(d) close to where a wall meets a ceiling.

7. A smoke detector should NOT be
installed near a window because

(a) fumes from outside may trigger a
false alarm.

(b) a draft may create dead-air space.

(c) a draft may pull smoke away from
the detector.

(d) noises from outside may muffle the
sound of the detector.
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What is the main focus of this passage?

(a) How firefighters carry out their
responsibilities

(b) The proper installation of home
smoke detectors.

(c) The detection of dead-air space on
walls and ceilings.

(d) How smoke detectors prevent fires
in homes.

~ Which organizational scheme do the list

of instructions provided in the passage
follow ?

(a) Chronological order by topic

(b) Hierarchical order

10.

(¢) Comparision-contrast

(d) Cause-and-effect

The passage states that, compared with

people who do not have smoke detectors,

persons who live in homes which have

smoke detectors have a

(a) 50% better chance of surviving a fire.

(b) 75% better chance of detecting a
hidden fire.

(c) 50% better chance of preventing a
fire.

(d) 100% better chance of not being
injured in a fire.

11.

12

13.

14.

Which of the following commissions/

committees is related to ‘Educational

reforms’ ?

(a) Jyoti Basu Committee

(b) Kothari Commission

(c) Malimath Commission

(d) Balwant Rai Mehta Committee

Which of the following schemes was

initiated by the Government to enhance

enrolment, retention and attendance in

school?

(a) Mid-day meal

(b) Indira Gandhi Matrutva Sahyog
Yojana

(c) Integrated Child Development
Services

(d) Kasturba Gandhi Balika Vidyalaya

Which of the following policies core |

objective is to empower the individual,

by enabling her/him to realize her/his full

potential through a process of lifelong

learning ?

(a) Digital India

(b) National Policy on Skill
Development and Entrepreneurship

(c) The Science, Technology and
Innovation Policy

(d) Sarva Shiksha Abhiyan

In which of the following areas is AICTE

working ?

(a) Primary Education

(b) Teachers Education

(c) Vocational Training

(d) Technical Education

11.

12:

13

14.

FORge 694 afieqedd ‘dal e’ ag
ge 2ee'?

(a) 69416 @ @fd

(b) 6RI0IG KFER

(¢) fRFe A8

(d) ONGS QY 6716261 K76

SNR0ER HIRFINS RIA QFRI 9 QAP
QIR RERNYER NI FIRYS FRIQ
6RQ 6AIRR 2eR efdeR?

(a) FRIQ 6RUIRR '

(b) QAR GIRT FIQY ALCQAIT 6LRES!

(c) AWRe §¢ I8 629

(d) @9l CIR QAFR FUIRA,

QONYE RIQ 692 JAT NIST FIFQ
28580 gORIq SIeeqiial d8l Q&9
PAUER AIVTAE PR AVY QeI ?
(a) @ROIR Qg

(b) 286 FRIE e RQELIFR PIOIR AR
(c) R, geude 9e° adne aRd
(d) Q&8 ZRAIR

AANYE G 6QQ TRARER YINITR
QI SRl ?

(a) glafe dal

(b) d9@ dal

(c) 9& Qe dal

(d) 69g0e dal
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of jeans is :
(a) Saffranin
(c) Indigo

(b) Induline
(d) Rhodamine

4 D.EL.Ed. (CT) PREVIOUS YEAR QUESTIONS & ANSWERS
15. Under whose chairmanship did the 15. 1993 69 @I dRAGQER RUIARIRN,
National Advisory C‘:}’;“mi“el? » :9;3 2eRRed 6F¢ dala AR 98 oG ade
advise on improving the quality of the 2 - ~
learning while reducing the burden on YR dAITQ 6QIE @ @A MM 996
school children ? @UdIReAUmI ?
(a) Prof. Yashpal (a) 9ETQq K9
(b) Prof. N.R. Madhava Menon (b) Q6TAQ IR 2R AR 67RR,
(¢) Ramamurt _ g
(d) Daulat Singh Kothari (c) Qg &
16.  Which part of the stem in some varieties (d) 691RE, 4@ €10
of cactus helps the stem to expand and 16. @8 FGe gelaa QUIReY AOEQ QVQ
Con‘trast. depending on water G@g‘" 28 990 AUNEO! QA6 qogqlaa @
e Aqee 6N ?
(a) Ribs (b) Buds N N "
(¢) Trunk (d) Stolon (a) @QQ (b) @F
17. A catalyst increases reaction rate by (c) 98 (d) 69I6mIa,
(a) :ecr'easing the activation energy 17. QUISIAQS g@@g[@ LAER IR2N] ?
arrier B o A =
(b) increasing the activation energy (a). 79 WS Ql%il@l@_ ¥l gl Ly
barrier (b) 98 gEARRAGIQ ATHCIR PR !B
(c) decreasing the energy difference (c) QY 6 URQRe QY I3 MUY
between product and ractant Qe 98
(d) increasing the kinetic energy of the = < Y = D, e
colliding molecules (d) TR YA CoR I8 Q& @R
18. The Indian Parliament is composed of 18. QQGID ARACHS F6RIF VUG 69
three parts. First being President, what 900 62108 | 92T QIEaE caIaRl 6969
are the other two ? 2N 908 @' ? :
(a) Prime Minister, Leader of opposition »
(b) Chief Justice, Governor (a) QuIRqa, QQS QR €90
(c) Member of Parliament, Justice of (b) et QRIQUG, QYR
High Courts (0 ANUECAS A, 2IcRIFeden
(d) Rajya Sabha, Lok Sabha Gol0ad
19. Who appoints Governors and
Lieutenant-governors for a term of 5 (d) Qi@ sneaw |
years ? 19. QMUY 6 QUAINAING, &9 8 @ Fe6s-
(a) The President Oge @aaIa ?
(b) The Pf'u'ne Ml-msher (a) QIead (b) QuIGeR!
(c) The Vice President (©) Q9-QI8ad 3
(d) Parliament S jd) Andiche
20. The dye responsible for the blue colour 20. 964Q TR OF AR €QE GIR IeLA

QQULIRAN ?
(a) ATIRR
(c) adeql

(b) ARYIRINL,
(d) 6QIQINIRN.
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21.

23.

24.

25,

26.

27,

A round table has 16 chairs around it. If +/ 21.

no two persons can sit adjacent, then-at
most how many persons can sit around
this round table ?

(a) 6 (b) 8

() 7 (d) 16

Five friends P, Q, R, Sand T are standing
at the five corners of a regular pentagon.
At most how many of them are standing
at equal distance from R ?

(a) 0 (b) 1

(0 2 (d) 4

In a secret language, ‘grapes are sour’ is
written as ‘his maq wor’ and ‘curd is
sour’ is written as "hew wor tau’. What
is the code for “sour’ in this language ?
(a) maq (b) wor

(c) hew (d) tau

In a group of siblings, each girl has three
sisters and five brothers. How many
siblings they are in total ?

(a) 7 (b) 8

() 9 (d) 10

In a certain language, STAKE is coded

as EKATS. How would SYSTEMATIC
be coded in this language ?

(a) CITAMETSYT (b) CITAOMETSY
(c) CITAMETSYS (d) CITAMETISY
In a town, for every two females there is
one male. Which of these could be the
population of the town ?

(a) 31,000 (b) 33,000

(c) 35,000 (d) 37,000

In a queue, of 15 persons, Sita is standing
at fifth position from front. Madhu is
standing at the last, and Shivi is standing
at fourth position from last. Sita and
Shivi exchange their positions’and then
Shivi and Madhu exchange their
positions. Where would Madhu be
standing now ?

(a) Last position

(b) Fifth position from front

(c) Fourth position from last

(d) Front position

(a) 6 (b) 8 ¥
© 7° d) 16
22. 66IG QARIGE TEQSR TS 6RIEER TNERE
" @@ P QR SG6TE 620881 ROI§
AR QA0I6Q 6R60RE ATING FE
691088 ?
(a) 0 (b) 1
v () 2 (d) 4y v
23. <@ 6OIORIG AISIER (grapes are sourky
(hls magowor) @l Ccurd is so@@ (hew
wor tau) emell 622N L RUIIER
‘sour'® 6918, @’¢l 26§ ?
(a) maq (b) wor ¥
— (c) hew (d) tau ¥
24. 6@EA AR6R AR QAN H6e 96 FaQ,
36 aag 6 98 QIR 283 | 63FIEH ASEAT
6@60 QIR QREN ?
(a) 7 (b) 8
Vi) 9 d) 10
25. 6416d 9@ FG] QEIER STAKEG EKATS

o

s
661G 69N 69YNR SIRACE € 9T 651
Q98 | Q% ealed Qe aay cedsa
QR 98 @ @Q6Q, 6069 6REONE NG
@ 6olim 66QM SRS @d6Q ?

QD 6R1Q. FRUYIAT | 628 QITIER
SYSTEMATICQ Fad 6Q1Q,
FAUARARD ?

(a) CITAMETSYT (b) CITAOMETSY

~" () CITAMETSYS (d) CITAMETISY

> 26.

(

27.

6610 Q2a6a 96 9R K€l FRRIER P66
Q8 2281 GORYS Y 99T Qeea

QR CORAIR 2 & vy
(a)(31)000 (b) 33, 000\
(c)'cssjooo' (d)(37)000

601G AUGER 8 @& Fe 62183 | QG
Q20 84° gIRea 8¢ 62108, (1Y 64T6R
20l 62108 9Q° §§ 69199 ¥& gIvsa 8e
62108 | QI9I @ 0 cANRR ge adeas
@8M N° geq §Q 6 Ry AR R
90e8R Q6R | Qdele R 6RQ QIFea
8¢l 62IRgd 7 W,

(a) 669 Qivsa (b)geIng 28q gReq
(c) 6918Q ¥¢& qmsa(d) 2IG6R c
,.

rn
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28.

29.

30.

31.

32.

33.

Harish has two children, NOT both of
them are girls. How many sisters will
Harish’s only son have ?

(a) 4 (b) 1

) 2 (d) 3

A dice on which numbers from 1 to 6
are written on its faces is taken and is
thrown. A 3 x 3 square grid is taken, and
its rows and columns are numbered from
1 to 3. One of the boxes is selected from
the grid such that the sum of its row
and column is same as the outcome of
the dice. Which of these boxes of grid
can never be selected ?

(a) Centre box

(b) Top row, leftmost column box

(c) Rightmost column, bottom row box
(d) No such box is there ‘
What will be the next term in the series

14, 196, 2744, ?
(a) 78912 (b) 44696
(c) 23716 (d) 38416

Which of the following can be considered
as a formal agency of education ?

(a) Cinema (b) Newspaper
(c) Museum (d) Radio
Which of the following qualities would
appropriately define ‘learning’ ?
(a) Understanding, imagination and
skills |
(b) Change of behaviour, practice and
experience
(c) Creativity,
endurance
(d) Intuition,
imagination

conviction and

intelligence  and
Out of twelve years of schooling, eight
years are termed ‘elementary education’,
which was made compulsory. To which
of the following age group floes it
correspond ?

(a) Between 5-13 years of age
(b) Between 6-14 years of age
(c) Between 7-15 years of age
(d), Between 4-18 years of age

28.

29.

30.

34¢

32

33.

209s Q@6 A8IR, QEEAIR &Y QL8|
0GIF RIS ON 6Q6eRE QRE 288 ?
(a) 4 (b) 1
(c) 2 (d) 3 _

e Q 9 enelcIRal 6615 ﬁl?__ 69IQ.
QR0 @6 6TIAIG QUM | €6l TMxM
ga GeIgRd 9e° eI IG 6 396Q eQ
M adie 68 eaIaag | 628 651? 2Q Q|
de YO& ¥R QIRQ QIF 64Jaw g @
g2aq Q96AIe Al 691 TRITH AQ
IR c2IRQ | Fonde AR 6@ QT
606 & o8l dRUGe Q@ ?
(a) 69068 2RI QNI
(b) QYR UEGR QU AQ R
(c) @RIE e 26, o AR AN
(d) 6208 65168 QIR Ql'@i

eY, 009, 99¥Y¥ ALYINER AR
QCHIT @8 62Q ?
(a) 78912 (b) 44696

(c) 23716 (d) .38416
QRYE RIQ 6QRSY SRR TR Y6RRT
Wie@ Q@a FAUARARSD 7

(a) O@RGQ (b) SQQRIAR

(€) dgeiea. .  (d) eeeQ
AIRNYe Mg 6ad Qe O eice dsi
ACRIQ QIRAIN ?

(a) QEINEI, S35 6 Qg

(b) ILRER VLR, Ui 6 2GRS
(c) 999 4, QR 6 YeRgIRe!

(d) 299}, B 9@ Saed

Qe oda gefe dage qrIQ 20 98Q
“gede 891”7 QI6e Qea qaaied, A
QRICIYNS AT | FRYe eriq 698
QOQEGNIRIQ Yl QEIRAINg ?

(a) 56 1398 Q@0Q

(b) 6Q 14 @8 QaQ

() 79 1598 @ad

(d) 49 18 ¥ @<
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.

36.

37

38.

Which of the following reasons prompts
us to teach mother tongue language at
primary level ?

(@) It helps in the child’s intellectual
development

(b) It helps in the child’s numerical
ability ,

(c) Children learn better and faster in a
language they can understand

(d) It develops confidence in the child

Attaining of which of the following
attitude is the objective of elementary
education ?

(a) Critical thinking
(b) Confidence
(c) Reasoning
(d) Comprehension

Where are students with severe learning

disabilities taught ?

(a) General classroom along with the
students without disabilities

(b) Self-contained special education
classroom

(c) No special place in particular
(d) Staff room

The riée of Montessori-based education
has led to the adoption of :

(a) Teacher-centred method
(b) Hands-on instruction method
(c) Collaboration method

(d) Problem-solving method

Which of the following could be a
problem faced by a student who
continuously rubs his eyes and pays less
attention during blackboard work ?

4

(a) Dental problem
(b) Mental problem
(c) Vision problem
(d) Audio problem

X

34.

35.

36.

37.

38.

GOAYE U] 607 RIE 2AN] gIfe
2a6a ARSI d91 @R IR 69IRIEe
QQalg ? '

(a) 2l dga 6QEe Qe el

© (b) Y@l dge AP QT Q& FaIRN

(c) 44 @ QeI &Y el dgald
8 Qe
(d) Y2 dga R QFIRalN

FORYS Y 64 AERINIe gad 629l
QR gIefe R QEQeY gae 62N ?

(a) UCACAINNS SBUIR
(b) AIYIYIQ
(c) Qeeel
(d) 6QRIOD

010 d9418 2AANAYel QI LIRAIRS
60160 TR QAANING ?

(a) QARINE 64€16Q 6IQA0IER RY AICIRY
gIerlce aQas

(b) Qar-A%d 2R o] 644€16R

(c) 6Q0Q 6@ Fha grsa Q6o

(d) T QFER

Aeg6QIaN 2GS S8l gl FIRGE nrig
68QCR o8 QAR QY QRS ?

(a) 990 ¢QFLe aqlQ

(b) glkaide Gede eaia

(c) Q26T Qg

(d) QO IR Qaia

IRAC AN AER 2dee 2@ Qe

e° Qe AR 600 2100 QIeg FORge
R 6R9C colnaca 7

(a) 9 Aoy

(b) FIRAe Qaqy)
© 98 a8 anqy)
(d) §9¢ 6@ aray
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45.

(c) @O

Galaede 91|
(a) G9@ (b) BIRAIRE,

(d) 9LIR6R

(o) Ad

8
39. What would be the ideal suggestion to a 64616Q 98 69¥6q 932 dainiee
teacher when the back-benchers are AQERER @2l 620 I0gEER J8Q e
always talking in the classroom ? Q6d 9’6 Qa6 ?
) Ao igem itpadarwhak thoy want (a) 627169 QIR QISR olgl el
(b) Give punishment to them 6969 :
(c) Make them sit on the front lgenclies ' (b) 627G PG 6Q6Q
(d) Ask them to leave the class (c) 6T YU 6286a Y FT6Q
- 40. Which among the following is NOT an (d) 6961 217 QINDRIR FPEQ
effective way of using the blackboard in 40. FORYe QUQ 6QAT QRIASI QIR
1 ? iy '
i QAQIR N9 TR QIS 6210 QAN ?
(a) Blackboard should be thoroughly ~ N =
. | NQlQ °
cleaned before putting it to use () Faae FoN 8 St
3 = X 5 LIRS L &0 @G'@
(b) Rub the board in a haphazard way & =
, (b) eagl 99! 98 AT @A
e B : A
) Wiimnutieg e glarigielion ghlieh: (€) 991 AE6R ZeAIAa JETRE JaIRAQ
on the board &
; e ! Rt @0 edQl
(d) Write legibly in straight lines = 2
(d) 900 6QdIER JAFIR AER AT
SECTION-II
ODIA LANGUAGE
41. dOIEQ Q20 QG @ 0 28| CANTE 46. ‘UY CQHINQI’ QTR 0@ QR YR ¥Q |
Jeda 98qa @2 | (a) 999 9RIQQ
(2) o1 ?3 g‘ (b) 2ER Y Halael
(c) 99 =
% g Ay o
4. ‘U SN §0F '8 ? B Bl
(c) Q2R d) gazie 47. 9999 QAR Q2| AR 2 QAATTY
43. FoRge crig A0e dacqy SRl ogrRl
(a) 91g@e (b) Agda (a) QA + aIQ (b). QR + QIR
’ (C) Q|élﬂl69 (d) qg\q'GQ (C) qg‘l + 2 (d) L + (all=)
2 0 GRIR am J6e| NYU6a QI it
44. goel %ﬂg;;; 48. UR GRTQ SANIE G0 @' 629 ?
g@qgg n F— -~ <
5 o8Q1
(a) @ + 9@ (b) QRN + &9 . (b) /ae
© aFie +ae (d) e + ae (c) Wwien (d) eae
dge sloaRg 0 dLInem | Kea Je 49. QRIAYMER QTS AIE QLE | YR 6QLT

6838 ?
(a) PRINQIER (b) QETE

(d) ogf
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perpendicular distance of 7 cm from the
centre is 48 cms, then the radius of the

circle is :
(a) 20 cm (b) 25cm
(c) 30cm (d) 50cm -

 (a) 20 69Q.§

50. ‘GOIRIGY’ FTR 2 go© Q9| aB2l QUAINIER 6Q60IT 8 Yeed QEg ?
(a) QURER SRIRNITI (@) ¥ (b) &
(b) SRPEQ SO QTR () 9 _ (d) ©
(c) 6<I6 6QQ (d) oRel .54, RQREe Mg A0, 9e¢ QB |
51. Q0e aedq Sge Gu| (a) QQ@ (b) Qg
(a) (b) 284 (c) Qe (d) e9e"
(c) a1dd (d) 21ds 55. CRIRQIER Z6Re QI AB | 6Q¢IGe IeQ
52. , 2IG0Q Qe d0 Sl | ORI |
. (a) QIO (b) Q2de (a) @ (b) 281
(©) aIee (d) @96 " (© geels (d) 2219 06 AR
56. Find the HCF of 24 and 36. 56. 9% @B M9 @ 6.9.9 QLR Q|
(a) 4 (b) 6 (a) 4 (b) 6
(o) 8 d) 12 (©) 8 (d) 12
57. What is the approximate square root of _ 57. g2l 90& €igdq Qeta alsliaiy QdiR
the sum of first 20 natural numbers ? ' EQEQ ?
(a) 132 (b) 13.8 (a) 13.2 (b) 13.8
(c) 141 (d) 14.5 (c) 14.1 (d) 145
58. A={0,23,4,6),B=(1,3578andC= 58. A=1{0,23,46),B=(1,3578 6 C=
. {0, 2,4, 5,7). Find (AnB)NC (0,2, 4, 5, 7). (APB)NC QI2IQ @Q |
(a) (3,4 (b) 10,1, 3,57} (a) {3,4) (b) {0,1,3,5,7}
() 7} (d) Null set ) ) (d) oR 69¢
59. Three angles of a triangle are in 59 cq&q Goea G6RIT 6Q18 AR 65616R
arithmetic progression with a common 90 Ggl ARRE MRURER 28T | 62D
difference of 20 degrees. What is the 5999 9267 69160 AGAIE 6Q60 629 ?
smallest angle in that triangle ? A ~
. (a) 30 @9 (b) 40 &I
(a) 30degrees (b) 40degrees 2 - .
Gdegrees (@) 60degres R L
: (e} Lclegy 60. 6TNGE. R 21N FRAY IR BEQ Q6 AR
60. Cost of a diamond varies directly as the ﬁ oA .
square of its weight. A diamond fell down QI&JIQQGI qn@mm 6LIRAN | 691 1R
and broke into pieces whose weights Qe de WiFTeml B8 9:M:y¥ AQUICER ¢i€
were in the ratio 2:3:4. What is the loss ¢8 621Q0RIl 99 Qe Iede AL
due to breakage; if the initial cost of the €,99,000 €2IQAINY, 6069 AT
whole diamond was Rs.1,62,000 ? QIREq 6960 B3 60Q ?
(a) Rs.42,000 (b)" 158,80 (@) Rs. 42,000  (b) Rs. 58,000
. (c) Rs.1,04000  .(d) Rs.1,50,000 (c) Rs.1,04000  (d) Rs. 1,50,000
61. If the length of the chord whichisata =, * agq cannig o ca.d gaca AR aice

Q2R QIS YIe 6 ¥ 6.8 269 |
606Q IPIQ ARG 69 6Q60 68@ ?
(b) 25 62.9

“(¢) 30 6Q.6 (d) 50 6Q.4
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62. Father’s age is 4 times the age of his son Jdole @0Q 92 @AQQ s g6l © o od E;LGQ
now. 10 years ago father was 10 times as a@lq (aTote) qﬁ QEAQ e o q.a aﬂ“ QG‘IQ’

Id as hi 1 i . <
old as his son. What is the present age Qddie 0ad €a6o ?
of father ? E 3
(a) 50 years (b) 40 years (@) 50 @g( (b) 40 Qﬁl
(c) - 60 years (d) 80 years L i (d),80 @8

63. Price of an article is first increased by 40% 63. 60l Geia.qmi dded . ¥ox egia
and then reduced by 20%. What is the QUSRI B TER QIRIQ 9 0% V| GG |
percentage increase in its price ? 21 INIER S0 6@66 QF 62@ ?
(a) 10‘70 (b) 12% (a) 10% (b) 12%

(C) 20% (d) 25% ' (C) 20% (d) 25%,

64. In a class 35 students Passe.d ln Er\gllSh 64. 9@ Gﬂénea ne € Ql@ QANER giq
25 students passed in Hindi and 10 ~ = =
students passed in both. If there are 75 RATCEB I Bl BInyRE S Els G?IQQ?
students in that class, what percentage 6 Ro @él Bld YEUER UIq 6LIas| 49
of the students failed in both the 692 696160 28 @4 8l UQa’E, 6069
gubjects 2 §00¢! 6960 8lQ ARG FE46Q TR
(a) 20% (b) 30% 621083 ?

(c) 33.33% (d) 40% (a) 20% (b) 30%
65. In the given figure AB is parallel to CD. ' 0
33.33% d) 40%
What is the measure of the angle TPS ? (c) = @ LA
65. QR 9EYER AB, CD 972 620 Q@8 | ILIQ
P TPS 6@l AId 6@60 69 ? '
P
. 7 A
110° A
o D Tf S
50 R
79 3 . / s
50°/Q R
(a) 50° (b) 60° / \
(c) 70° (d) 80° (a) 50° (b) 60°

66. THhe cost of 3 bananas, 4 apples and 6 (c) 70° (d) 80°
mangoes is Rs.29 and the C°S"R‘S"-; 32 66. Mo K9G, ¥E 620 6 9T 2R gAY 9 ¢
bananas, 6 apples and 3 mangaeg's 5~ oGl ¥e° 98 QeR1, 9§ 6aQ B NG 2NA
What is the cost of 7 bananas, 16 apples - ~

» gmi 9M o'@l ST | 96 [, € IC 69
and 12 mangoes ! « 7 .
Rs.60 G R 9G UAQ MY 6Q6C €29 ?
a) e (a) Rs.60 (b) Rs.75
(b) Rs.75
(©) Rs90 (c) Rs.90
C ; s - v
(d) Cannot be determined (d) 299 @dIR e QIR S8
)
7. How many perfect squares are there 67. ;gz @ R000 (1UER E@ERIC 9 @

petween 200 and 1000 ?
(a) 15 (b) 16
© 17 S

(b) 16
(d) 18

(a) 15
(c) 17


sujit9876789@gmail.com
Techofworld.In


[echofworld.In
D.EL.Ed. (CT) PREVIOUS YEAR QUESTIONS & ANSWERS 11

68.

69.

70.

71

72,

73.

74,

Smita and Geeta have marbles in the ratio
3:2. Geeta and Reshma have marbles in
the ratio 3:5. If they have 250 marbles all
together, how many marbles does Smita
have ?

(a) 60 (b) 90

(c) 100 (d) 120

The difference between Compound
interest and Simple interest on a certain
principal for two years at 20% rate of
interest is Rs. 25. What is the principal
amount ?

(a) Rs. 500 (b) Rs. 625

(c) Rs.750 (d) Rs. 900

The HCF and LCM of two numbers are
12 and 216 respectively. If one of the
numbers is 24, find the other.

(a) 72 (b) 108

(c) 216 (d) 432

Home Rule Movement under the
leadership of Annie Besant had its
headquarters in which of the following
states of India ?

(a) Chennai (b) Bombay

(c) Calcutta (d) Gujarat

The construction of Mallannasagar
reservoir as a part of Kaleswaram project
will submerge a village in which district
of Telangana ?

(a) Medak district

(b) Warangal district

i (¢) Karimnagar district

(d) Mehboob Nagar district

The function of planning and
coordination of legislative and other
official business in both the houses of
parliament has been allocated to which
ministry ?

(a) Ministry of Parliamentary Affairs
(b) Ministry of Foreign Affairs

(c) Ministry of Finance

(d) Ministry of Human Resources

The partition of Bengal took place in
which year ?
(a) 1906

(c) 1905

(b) 1904
(d) 1907

68.

69.

70.

71

Lo

73,

74.

Jo1 6 QIG! AILERQ M : 9 AQUGER FISETNE
Q08 | G161 6 609 AIYER M 8 LR
QIocaIS QB8 | 99 AR RISEANT QI
980 62IQ2IN, 66069 oI aIsiea 6R60IE
Qe 661G Q98 ?

(a) 60 (b) 90

(c) 100 (d) 120

@ FRe gRngn gRue G068 9 0% Qi
21068 9 QFa 9298 QX 6 AR Y LIOR
QRUIR 98 GF1 AT | MLIR IRUR ARAS
6Q60 629 ?

(a) Rs.500 (b) Rs.625

(c) Rs.750 (d) Rs.900

QA% QIR 9.Q.9 6 M.Ql.g AREA € 9
6 909 US| QI PRI UG 6QNTT el
9% @4, 606Q AUMG @6 629 ?

(a) 72 (b) 108

(c) 216 (d) 432
U 6217 QM ZIERINER 6RAIR
ARG I NINER 69Q Y6RE6R ARTE
AR ?

(a) 69QIQ (b) @62

(c) QRel (d) 9Kl
RIERYAN 6ICRRE AUIFE ARAIATR I

- Q9Ie 6418 QEQIQIRI CRERTIRI QSIS

609 A QER G 0@a ?

(a) 600Q &R (b) GoerR @R

(c) 98 Q9Q AR (d)6r12QQ PR |
dIREIEALR ARE 9969 ZIRe AANIE o2l
Q90 KR 6AINR QAR IQ° ABIRE
A G768 coa ag€ifaq dq
QARG 7

(a) ARACHS NI RSN

(b) 696Q39Q fRqIng,

() 28 Pading

(d) 99 ane craIne

T YRR 6ae Adeea cQIQeIRl ?
(a) 1906 (b) 1904

(c) 1905 (d) 1907
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75. The Equator runs_ towards which

76.

77.

78.

79.

80.

81.

direction ?
(a) North-South (b) East-West
(c) West-North  (d) East-South

Which among the following places in
India receives the lowest average annual

rainfall ?

(@) Cherrapunji

(b) Mawsynram

(c) Jaisalmer

(d) Neriamangalam

Most of the asteroids are concentrated

between the orbits of which two
planets ?

(a) Mercury and Venus

(b) Mars and Jupiter

(¢) Venus and Earth

(d) Jupiter and Saturn

Which Veda dealt with magic, hypnotism
etc. ?

(a) RigVeda (b) Yajur Veda

(c) AtharvaVeda (d) Sama Veda

Which among the following is the last
and the thinnest layer of earth’s

atmosphere ? :
(a) Troposphere (b) Stratosphere

(c¢) Ionosphere (d) Exosphere

Who among the following invaded India

in the 10th and early 11th century and
established sultanates in Delhi ?

(a) Arabs (b) Turks

(c) Aryans (d) Persia .

The Government of India launched a
“Flood Management Programme” as a
state sector schemes to provide Central

assistance to the States for taking up
flood control, during which five year

plan?

(a) I five year plan
(b) V five year plan
(c) VII five year plan

~(d) XI five year plan

79.

76.

77:

78.

79.

80.

81.

QYR 6Q¢ll 699 Y96Q 97 Qdelg 2

(a) 20-9F6
(c) ade-QeQ

(b) 99-adq

(d) 99-9Fe
QUNYE FIQ NRER 692 Yea Fe
2eIRR AR 98I 62IRaN ?

(a) 6oQUYE
(0) PRANEAR

(b) eReaA

(d) eatafEan
ARIPIE G2l Y& TR rIg 606 9af
929 60ardl 02l A6 89l 62in eels ?
(a) 6 ga (b) IR 6 9e%Q
(c) 92 6 Qe d) 9= 6 aae
609 699 QI §qY, cadet SQu G
QE06a Qdal @delNd ?

(a) Q9 692
(c) 2 69

(b) UREQQ

(d) Q9 699
IS Q69T Qa1 QYNGR
QAQ0IQ 64918 Q2 UoR! IR CLINAN ?

(a) el

(b) gl_seléiaa

(©) ZeAERIBAR

(d) 9R6AIax _
QNS RIQ &9 e oQl 6 ¢ 0 g GoIKEa

Wi AR @6 ANy gfal *Geieq ? _
(a)

(c) 2y

(b) Q@
(d) adz
699 92QI8e caIRqIE ARIYER. QY

QADEQ AL SLICIREQQ G638 QURE

WA “@U AR cAIRQ!” 2ea
Qaaem ?

(a) Il QEQ@e saIee
(b) V QEQI8Q caIpa
(c) VII 98QFQ 6QIew!
(d) XI 9818 6QIRR!


sujit9876789@gmail.com
Techofworld.In


Techofworld.In

: D?EL.Ed. (CT) PREVIOUS YEAR QUESTIONS & ANSWERS 13

82.

83.

84.

85.

86.

87.

88.

89.

Which amendment deleted right to

property from the list of fundamental
rights ?

(a) 45% amendment

(b) 44" amendment

(c) 43" amendment

(d) 424 amendment

Geographical grid is-a network of :

(a) Parallels of latitudes and meridians
of longitudes drawn on a globe

(b) Tropic of Cancer and Tropic of
Capricorn

(c) The North pole and South pole

(d) Equator and Tropic of Cancer

The term “Socialism’ was included in the
preamble of the Indian constitution in

“which year ?
(a) 1974 (b) 1975
(c) 1976 (d) 1977

In which year did the British introduce
the electoral principle into local bodies
in India ?

(a) 1884 (b) 1888

(c) 1892 (d) 1896

10 g of an ideal gas occupies 8 litres at
NTP. The temperature at which volume
increases fourfold for the same pressure
and same amount of gas is :

(a) 546°C (b) 819°C
(c) 0°C (d) 273°C
Amoeba is a '

(a) Fungi (b) Protozoa

(c) Bacteria (d) Virus

Which one of the following is NOT an
example of eukaryotic cell ?

(a) Paramoecium caudatum

(b) E. coli

(c) Euglena viridis

(d) Amoeba proteus

Kelps are attached firmly to rocks by
(a) Stipes (b) Lamina

(c) Phycocolloids (d) 'Holdfast

82.

83.

84.

85.

86.

87.

88.

89.

6610 ZRFINR GINAIQ 6RQ AR

ARITEQ AARCE R AAAIQE

QAR ?

(a) 451 QEARIQ  (b) 44™ QEARIQ

(©) 434 QLEaRIR (d) 427 AEERIA

cRlcaIRe PR 99 6REUR 6LIRaIN

(a) 69JQ6Q TR FAARAR! AR
2drd 9e° QA 9ae

(b) Q06 Q6 6 FRQ RIBQ

(c) 29Q 661Q 8 AFLEAQR

d) 999 6adll 6 AR QB

“QAIRRIL” 99 eee1D UL LIV

Qanea 609 (1deEe 28YS 6NN ?

(a) 1974 (b) 1975

(c) 1976 (d) 1977

6@ (dPIER ACARFIEH RNQVER 2GRS

die G623 616 RYIR JORR *trlem ?

(a) 1884 (b) 1888

(c) 1892 (d) 1896

NeGd6a ¥ 10 gl @ 2Sd NI 8 @

2GS SR 6922 AR I 6 AR

aaaIEa SuIQ FF63 6QR FITAIRIER ARG

QIRge adie 9f amaa ?

(a) 546°C (b) 819°C
(c) 0°C (d) 273°C
2eAIRQ! 9

(a) O QI d2@  (b) 6QCTIERI
(c) Q09 (d) 91914

FIRYS AR 69ET IR gRIcdITR 6QI18Q
QRIS Q6P ?

(a) Y60EAN QIRGIEA (b) R-6QIR

(c) QYR NE@Y  (d) 2eAIRS! 6916
ALRR PGS cen Ao GOd 9@ aIe
ACYS 6210 QBT ?

(a) 696aq

(b) U

(c) TIRERIERINILQ
(d) eeiRe aIqe
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0. Abody has a unit mass and is at a state g, ggIE QMR X’ QR 9LQ QL8 99° g
of rest. If it receives an impulse ‘x’ de 028 | a8 2010 @@ 2l 6516 (=)
suddenly, then what will be the acquired 33 A0 ad
g e AN, 6069 (IRl FIoR I8 6a6o
kinetic energy ?
@) (b) x2 - 6RQ 7
a) x X
2 d 2 (@) x , (b) x?
(9 x/2 @) 2/x () x2/2 (d) 2/x2
91. In exothermic reaction 91. qeQ Elﬁﬁ?\ g@@ﬂlGQ
(a) Gas is liberated (a) SN G0 621
(b) Precipitation happens (b) Qe 6NN
(c) Heat is liberated (c) @1 ﬁ’%l@ 29
(d) Heat is absorbed (d) 019 AT g
92.  Abody of mass 0.5 kg travels in a straight 92. Q%Q el @ 9 qew 6asl 666Q 66
line with velocity v = ax¥? 'where @2 v = ax*? 6IEEERER a = 5m12G-1
@ = 5m%57. The work done by the net *ldY efel aie Sgiae Gace ageia
force durn_wg its displacement from x = 0 geaIs @Rl 621R2Q x = 0 96 x = 2m.
tox=2mis:
> 1 (@) 157 (b) 107]
& 15} (01101 (©) 50] (d) 100]
(c) 50] (d) 100] 93. QKQFea RGeS GF g -
93. Bread mouldisa: (a) 9 Q1 S0  (b) eqlcTICRI
(a) Fungi (b) Protozoa (c) welg (d) 11§
(c) Bacteria (d) Virus 24 QAR 6RITRI QAINIR (613 6 caEaR)
94.  Cells of tracheary elements (tracheids and UREe 629ld6q 6 coRaRIG e
vessels) becomes dead at maturity and NOREAYIEAIF CRITRI 9 cPIR Qe
lose their protoplasm d.ue to the @I 69l QAVYIQY 2lin[a 6€dIecig)es
dr—_jposﬂ-lon of'llgnoc'ellulosm cell wall R 08 62IQAN| 92! QIPIQ Q0Iead
thickening. This is an example of :
a6e 7
(a) Cell Growth (a) 6QI8Q Q&
(b) Cell Differentiation (b) 61T QRN
(c) Cell Dedifferentiation (c) 6Q8QI 2¢-Teneinad
(d) Cell Redifferentiation (d) 6QI8Q gM-Jenaiaag
95, =i mikbobea ot backeria widch Banverts %5. 699 QUEQA 9 AINEQINY UBcOEEa
: atmospheric nitrogen into nitrate in the 2l QIQGQISG‘G‘Q_L AIFeQ RIRETQ
soil i3 QUIeae Qded ?
(a) E-coli (a) @-6RIN
(b) @
(b) Yeast =5 i
dlum bot-ulinum (C) Gﬂ@ﬂﬁ Gml
(c) Clostri A%
(d) G6xdan

(d) RhiZObium
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96. The velocity — time graph of a body

97.

98.

9.

100.
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thrown vertically up is :

(a) A straight line

(b) A parabola

(c) A hyperbola

(d) Acirele -

Different kinds of structures develop in
plants in different phases of growth or

in response to environment. This ability
is called as :

(a) Plasticity
(b) Elasticity
(c) Heterophylly
(d) Differentiation

Which of the following gases has rate of
diffusion 0.88 times that of phosphine ?

(a) NO,
(b) N,O
(c) CH,
(d) CH,

Which of the following is a non-
decomposition reaction ?

(a) Thermal decomposition
(b) Electrolysis

(c) Photolysis

(d) Addition reaction

The value of Cp and Cy of certain
elementary gas are 441 Jkg'K-! and
315 Jkg 'K respectively. 10 g of the gas
occupies 6.225 L at 27°C and ‘1 bar
pressure. The atomic mass of the gas is:

(a) 20u
(b) 40u
(c) 60u
(d) 10u

96. 661G Q'R QA RIER AR TRIRER

97.

98.

29.

100.

QIR 6Q6-AID 6QEITE AR 629 ?
(a) @ APEAS

(b) ¥@ AIRIEIR

(c) 9@ LIRUIIEIN

d) 9@ 9@

gbeedq 9odel 69dia Q@ FRIER Qaq
adicca adesa @q g QO 6QdQIg
Goana| @ QgeIg 9’6 QRIdN ?

(a) Q836

(b) ARIEIT

(c) 626Q6QUTIAM

(d) PERMRAE

GRS FrIQ 60@ HIdR gARd TATIRR
0lq o.M Q& 2RIQ cLimN ?

(a) NO,

(b) N,O

(c) CH,

d) CH,

AORYE FRIQ 696E IR AS-AUR goTal
266 ? ' ‘

(a) OlOR QSR

(b) RERREFINAY

(c) 621661RAQ

d) 2508 9@

6a6R 661R% SHIGR Cp6 C, @ Qeliged
441 Jkg 'K 6 315 Jkg 'K~ &66'| 10 Q.
QM 27°C €Q €& 6.225 A Y@ L€ FREI
N@° 1 QI 919 SNIdR AGRR 9gQ 69 :
(a) 20u

(b) 40u

(c) 60u
(d) 10u


sujit9876789@gmail.com
Techofworld.In


Ehofwarld.ln.

16

ANSWERS

_®®®®®®®®®®_.®.®.®®®,®®®®.®®®®®.®®®.®
.O©©©©©©.©.©.©©©©©._©©©©©...©©©©©©©©
_O...OO@0.@000.@.0@0...00000.000.@0

SECECECE X ¥ ECNCRCNCNCNCHGECHCY JOX NCHGNCECNGHNCECE NCXCK ¥ NCNCK

_2345678...
C 2B B EREREREEERS

67
8
9.
0
1L

N T - R A - I N - =
8888888899999999990

=
Qo
-

LR T Y EEEEEE X Y EEEEEEEL:
000000000000000000000O0O000O0OO0O OO
F000CE00NROPRR00000RREE0C00000000 O
PRRRORC000RR0RRRAR0RERRRAREREORRRA R

i T S R R T - T - - T T - O S - - S — S B B T~ T S -
-2~ R DS HF L E S F F 9 & o bin1h 16 1 16 16 I6 I Ih O © © © © © ©

34
35.
3
3
3

000000000600000000000000000000006 0
0000000000000 0000000000OBO0000COE® OO
P800 0000000000E00R0C00C0000CCE0e
°000EERRR0R0R0000000R000RRRQ00QQRR K

..........123.&5678.901 : . TR A -
A dusersdgidd I AN RARINddENEdEEdg


sujit9876789@gmail.com
Techofworld.In


